
1
5

0
 
(
1

8
0

)

1
3

5
 
(
1

5
0

)

90

1
5

0
 
(
1

8
0

)

1
3

5
 
(
1

5
0

)

90

90(106)

205(212)

80

200

MAGAZYN
11,4 m2

ŚWIETLICA
36,8 m29

0
1

0
8

6
1
0

3
8

5
3

4
3

8

6
1
0

38 924 38

1000

117 180 150 106 150 180 117

38 924 38

1000

150 90 258 426

924

1
9

5
7

2
2

6
7

5
3

4

150 90 210

450

2
5

5
1

2
2

6
7

36 426

A

A

±   0,00=

     55,00

-   0,05

2
1

4
9

0
1

0
8

75 (90)

135 (150)

90

75 (90)

135 (150)

90

3
8

5
3

4
3

8


	Sheets and Views
	Model


